APPROPRIATION BILL

Committee Stage Programme – Budget 2018

Date	Time	Hrs	Head	Ministry	
			1	His Excellency the President	
			2	Office of the Prime Minister	
			4	Judges of the Superior Courts	
			5	Office of the Cabinet of Ministers	
			6	Public Service Commission	
			7	Judicial Service Commission	
			8	National Police Commission	
			9	Administrative Appeals Tribunal	
			10	Commission to Investigate Allegations of Bribery or Corruption	
			11	Office of the Finance Commission	
	10.00 a.m 12.30 p.m.		12	National Education Commission	
	10.00 a.m 12.30 p.m.		13	Human Rights Commission of Sri Lanka	
2017.11.17	(Lunch Interval	9	16	Parliament	
(Friday)	12.30 p.m 1.00 p.m.) 1.00 p.m 7.30 p.m.		17	Office of the Leader of the House of Parliament	
				18	Office of the Chief Govt. Whip of Parliament
				19	Office of the Leader of the Opposition of Parliament
			20	Elections Commission	
			21	Auditor General's Department	
			22	Office of the Parliamentary Commissioner for Administration	
			23	Audit Service Commission	
			24	National Procurement Commission	
			25	Delimitation Commission	
			26	Right to Information Commission	
			324	Department of Management Audit	
2017.11.18 (Saturday)	10.00 a.m 12.30 p.m.	9	103 222, 223 224, 320 325	Ministry of Defence	
	(Lunch Interval 12.30 p.m 1.00 p.m.) 1.00 p.m 7.30 p.m.		104 237, 239 252	Ministry of National Policies and Economic Affairs (was to be 20-11-2017)	
			192 225	Ministry of Law & Order and Southern Development	

Date	Time	Hrs	Head	Ministry
2017.11.20 Monday	10.00 a.m 12.30 p.m. (Lunch Interval 12.30 p.m 1.00 p.m.)	9	110 205, 228 229, 230 231, 233 234, 235	Ministry of Justice (was to be 18-11-2017)
	1.00 p.m 7.30 p.m.		195 296	Ministry of Development Strategies and International Trade
2017.11.21 (Tuesday)	, (-u	9	117 214	Ministry of Higher Education and Highways
(Tuesday)	1.00 p.m 7.30 p.m.		197 215	Ministry of Skills Development and Vocational Training
	10.00 a.m 12.30 p.m. (Lunch Interval 12.30 p.m 1.00 p.m.) 1.00 p.m 7.30 p.m.	9	118 281, 285	Ministry of Agriculture
2017.11.22			160 283, 291	Ministry of Mahaweli Development and Environment
(Wednesday)			198 282	Ministry of Irrigation and Water Resources Management
			199 289	Ministry of Primary Industries
2017.11.23 (Thursday)	10.00 a.m 12.30 p.m.	9	126 207, 209 212, 213	Ministry of Education
	(Lunch Interval 12.30 p.m 1.00 p.m.)		136 219	Ministry of Sports
	1.00 p.m 7.30 p.m.		163 206, 208 226, 227	Ministry of Internal Affairs, Wayamba Development and Cultural Affairs
	10.00 a.m 12.30 p.m.	9	122 286, 287 288, 327	Ministry of Lands and Parliamentary Reforms
2017.11.24 (Friday)	(Lunch Interval 12.30 p.m 1.00 p.m.)		135 293	Ministry of Plantation Industries
	1.00 p.m 7.30 p.m.			161 284, 294 322
2017.11.25 (Saturday)	10.00 a.m 12.30 p.m.		112	Ministry of Foreign Affairs (was to be 28-11-2017)
	(Lunch Interval 12.30 p.m 1.00 p.m.)	9	114 306, 307	Ministry of Transport & Civil Aviation
	1.00 p.m 7.30 p.m.		148 280	Ministry of Development Assignment (was to be 30-11-2017)

Date	Time	Hrs	Head	Ministry
2017.11.27 (Monday)	10.00 a.m 12.30 p.m.	9	120 217	Ministry of Women and Child Affairs
	(Lunch Interval 12.30 p.m 1.00 p.m.)		124 216, 331	Ministry of Social Empowerment, Welfare & Kandyan Heritage
	1.00 p.m 7.30 p.m.		182	Ministry of Foreign Employment (was to be 28-11-2017)
	10.00 a.m 12.30 p.m.	9	106	Ministry of Disaster Management
			304	(was to be 27-11-2017)
2017.11.28 (Tuesday)	(Lunch Interval 12.30 p.m 1.00 p.m.)		176	Ministry of Ports and Shipping (was to be 25-11-2017)
(Tuesuay)	1.00 p.m 7.30 p.m.		193 221, 328	Ministry of Labour , Trade Union Relations & Sabaragamuwa Development
	10.00 a.m 12.30 p.m.	9	149 295, 297 - 303	Ministry of Industry and Commerce
2017.11.29 (Wednesday)	(Lunch Interval 12.30 p.m 1.00 p.m.)		154 292	Ministry of Rural Economic Affairs
	1.00 p.m 7.30 p.m.		158	Ministry of Public Enterprise Development
	10.00 a.m 12.30 p.m.	9	147	Ministry of Regional Development
2017.11.30 (Thursday)	(Lunch Interval 12.30 p.m 1.00 p.m.)		162 311	Ministry of Megapolis and Western Development
	1.00 p.m 7.30 p.m.		166 332	Ministry of City Planning and Water Supply
2017.12.04	10.00 a.m 12.30 p.m.	9	111 220	Ministry of Health, Nutrition and Indigenous Medicine
(Monday)	12.30 p.m 1.00 p.m.)		123 309, 310	Ministry of Housing and Construction
	10.00 a.m 12.30 p.m.	9	119	Ministry of Power and Renewable Energy
2017.12.05 (Tuesday)	(Lunch Interval 12.30 p.m 1.00 p.m.)		150	Ministry of Petroleum Resources Development
	1.00 p.m 7.30 p.m.		151 290	Ministry of Fisheries and Aquatic Resources Development
2017.12.06 (Wednesday)	10.00 a.m 12.30 p.m.		121 254, 255 - 279	Ministry of Home Affairs
	(Lunch Interval 12.30 p.m 1.00 p.m.)	9	130 211, 253	Ministry of Public Administration and Management
	1.00 p.m 7.30 p.m.		155 312 - 319, 321	Ministry of Provincial Councils and Local Government

Date	Time	Hrs	Head	Ministry
2017.12.07 (Thursday)	10.00 a.m 12.30 p.m. (Lunch Interval 12.30 p.m 1.00 p.m.)	9	*	Consideration of the Report of the Select Committee (see Annexe)
2017.12.08 (Friday)	10.00 a.m 12.30 p.m. (Lunch Interval 12.30 p.m 1.00 p.m.)	9	*	Consideration of the Report of the Select Committee (see Annexe)
2017.12.09 (Saturday)	10.00 a.m 12.30 p.m. (Lunch Interval 12.30 p.m 1.00 p.m.)	6 ½	102 210, 238 240 - 251 323, 329 333	Ministry of Finance & Mass Media

Annexe

★ Ministries Referred to the Select Committee

Date	Time	Hrs	Head	Ministry
	10.00 a.m 12.30 p.m. (Lunch Interval 12.30 p.m 1.00 p.m.)	9	140	Ministry of Hill Country New Villages, Infrastructure and Community Development
			145	Ministry of Prison Reforms,
2017.12.07 (Thursday)			204, 232 326	Rehabilitation, Resettlement and Hindu Religious Affairs
(**************************************			157	Ministry of National Co-existence,
	1.00 p.m 7.30 p.m.		236	Dialogue and Official Languages
			165	Ministry of National Integration and
			103	Reconciliation
		9	101 201	Ministry of Buddha Sasana
	10.00 a.m 12.30 p.m. (Lunch Interval 12.30 p.m 1.00 p.m.)		108	Ministry of Posts, Postal Services and
			202, 308	Muslim Religious Affairs
			159	Ministry of Tourism Development and
2017.12.08			203	Christian Religious Affairs
(Friday)			167	Ministry of Special Assignment
	1.00 p.m 7.30 p.m.		194	Ministry of Telecommunication and
				Digital Infrastructure
			106	Ministry of Science, Technology &
			196	Research